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Solving Systems of Equations by Graphing

A solution of a system of linear
equations in two variables s
an ordered pair (x, y) that
satisfies each equation.
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Example 1 o (2,2 2 D o, 20 .
Check whether e A 260 = :

a) (2,2) 2=2/ A

b) (o, -1)
are solutions of the following system. . . %

%*3X -2y =2 z)+2(2
X+2y=6
(22)1s q solution @70 80k

What is the solution of the
following systems of equations?
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Solve the system of equations by graphing.

2. y=%x-1 a
y=-x+4
)Ie%-x—] y=-x+4 A
m=% ms= -_‘- Z
y-ing==]  ymE=o T x
(%:1) A
pad X
Hvd N\

Solve the system of equations by graphing.

3. y=-2x+1 71
y=x-5
y= ~2X+| y= X-9S \
me<z  m= 4 X
Y-.nt = ) ‘[-ml:‘ -5, \\ %

(2)‘3)




3.1 Solving Linear Equations by Graphing (work).notebook October 18, 2023

Solve the system of equations by graphing.

4., 2x+y=0 71

=2 =< | /
m T m T " :x
y-int=0 Y-int =3

X=hamburger C1bs) y=chicken (lbs)
S.  Your family is planning a barbeque

Hamburger costs@)er pound and chicken
costser pound. Your dad plans to spend
Your mom buy@)ounds of meat total.

How many pounods of each did she buy?
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6. y=-2x+35

What is the...
-slope? -2 imi
P 2 Para e
y-intercept? 5 \ J

0. solution
y=-2x+1 \\ -
\ >

What is the... \
-slope? -7
-y-intercept? |

Answer:
_22)>f+y=t -4x 6I-ZV
4

Fairst) 50 lve fory. Then graph
y= 22X +2 = )'
\Wml—cl\/ \
Ynany
solutions

Answer:
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SUMMARY

If the two equations

If the two equations have the same slope
If the two equations have the same slope and the same y-intercept,
have different slopes, but different y-intercepts, then the system has
then the SV has then the system has infinitely many
one solution. no solution. solutions.

o I =
-
/ 67L e

LINES INTERSECT LINES ARE PARALLEL LINES COINCIDE
Exactly one solution No solution Infinitely many solutions
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